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A = P(L-ni)

A=PL-i)"

Y-y = m(X-x)

m = tan©
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In AABC: a __b _ ¢
sinA  sinB sinC
a? = b% +¢? - 2bc.cosA
1 .
area AABC = Eab.smC
sin(a + ) = sin.cos B + cosa.sin B sin(a. — B) = sina..cosP — cosa.sinP
cos(a + B) = cosa.cosPB — sina.sinf cos(a — ) = coso.cosP + sina.sinf

cos? a — sin? a
cos2a = 11— 2sin’a sin2o = 2sina.cosa
2cos’a —1

(X;y)—>(xcos@+ysind; ycosd—xsingd) (xy)—(xcos@—ysind ; ycosd+ xsin )

fx _Zn:(xi _7)2
7:_ 62=|=l
n n
P(A) = % P(Aor B) = P(A) + P(B) - P(A and B)
§ = a +bx b:Z(X—Y)(BSV)
> (x=X)
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